IR 3R, DHIFH & A AT DT HH

-H: fdid: R
81(%+§)+9= (20+5—%)><%=

12(%+%)+3= 22(%—%)+11 =

100(§+%)+10= %+%(%+§)=

www.snowmath.com



https://www.snowmath.com

IR A, HIYH P 1Y AT BT HH

3 2 207 7

1 — — — = __:1 —

8 (4 5) K 20 020
I 11 1 1
4 (=)= _
3 2(6 2) 6

301
12(+2)+3=8
G+3)

2 1
100(= +=)+10 =9
(G+3)

Wz
11 3
A+d+ 2)x = =2
( 3373

21 1

20+5—-)x 2= =5-
@+5-5)x2-2
13
40-10— ~)x == >
( 23577
2 1 3
2(E -2y 1l = =
5 1 10
1 13 2 109
_+_(_+_):__
5723737 120

www.snowmath.com

TR



https://www.snowmath.com

